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Question Number : 521 Question Id : 226895671615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the major developments in Harappan Archaeclogy in a chronological order:
{A) Report of Alexander Cunningham on Harappan seal.
(B) 5.R. Rao begins excavations at Lothal.
{C) Daya Ram Sahni begins excavations at Harappa.
(D) Vasant Shinde begins archaeogenetic research at Rakhigarhi.
Choose the correct answer from the options given below:
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Options :

2268952603778. 1
2268952603779. 2
2268952603780. 3
2268952603781 4

Question Number : 521 Question Id : 226895671615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952603778. 1
2268952603779. 2
2268952603780. 3
2268952603781. 4

Question Number : 522 Question Id : 226895671616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Traces of canals have been found at the Harappan site of

1. Shortughai in Afghanistan
2. Banawali in Haryana

3. Harappa

4. Mohenjodaro

Options :

2268952603782. 1
2268952603783. 2
2268952603784. 3
2268952603785. 4

Question Number : 522 Question Id : 226895671616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603782. 1
2268952603783. 2
2268952603784. 3
2268952603785. 4



Question Number : 523 Question Id : 226895671617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following rulers adopted the title devaputra, or "son of god"?

1. Kushanas

2. Sakas

3. Mauryas

4. Satavahanas

Options :

2268952603786. 1
2268952603787. 2
2268952603788. 3
2268952603789. 4

Question Number : 523 Question Id : 226895671617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603786. 1
2268952603787. 2
2268952603788. 3
2268952603789. 4

Question Number : 524 Question Id : 226895671618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The Gandatindu Jataka describes:
(A) Cordial relationship between a king and his subjects.
(B) The plight of the subjects of a wicked king.
(C) The strained relationship, especially with the rural population.
(D) That, kings frequently fill their coffers by demanding high and oppressive taxes.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (O) and (D)

4. (B), (C) and (D) only

Options :

2268952603790. 1
2268952603791. 2
2268952603792. 3
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Question Number : 524 Question Id : 226895671618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603790. 1
2268952603791. 2
2268952603792. 3
2268952603793. 4

Question Number : 525 Question Id : 226895671619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l:

List-1 List-11
Meanings Terms

(A) When descent is traced through the mother (I} Adi-Parvan
(B) Barbarians or outsiders of the Brahmanical order (I} Endogamy
(C) The first section of Mahabharata (1) Matriliny
(D) Marriage within a kin group, caste, or a group living in the same locality (IV) Mlechchhas

Choose the correct answer from the options given below:

T.(A) - M, (B) - (I, (C) - (), (D) - (IV)
2. (A) - (). (B) - (1), (C) - (), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (V). (D) - ()
4.(A) - (1), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952603794 1
2268952603795.2
2268952603796. 3
2268952603797. 4



Question Number : 525 Question Id : 226895671619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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4. (A)-(), (B)-(1V), (O)-(1), (D)-(10)
Options :

2268952603794. 1

2268952603795. 2

2268952603796. 3

2268952603797. 4

Question Number : 526 Question Id : 226895671620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In play the Mrichchhakatika, the hero Charudatta was described as both a Brahmana and a .

1. Nishada

2. Kshatriya
3. Sarthavaha
4. Mlechchha

Options :

2268952603798. 1
2268952603799. 2
2268952603800. 3
2268952603801. 4

Question Number : 526 Question Id : 226895671620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TBDlcHH AlcH H 4150 dead @ sTgivl AR

INELIH
2. &g

3. griare/afiis
4. WSS

aiHi & w9 ¥ aftfq foar

Options :

2268952603798. 1
2268952603799. 2
2268952603800. 3



2268952603801. 4

Question Number : 527 Question Id : 226895671621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Which ruler of the Satavahana dynasty claimed to be a unique Brahmana (eka bamhana) ?

1. Gotami-puta Siri-Satakani

2. Gotami-puta Siri-Vijay -Satakani
3. Vashisti-puta Pulmayi

4. Madhari-puta-Svami Sakasena

Options :

2268952603802. 1
2268952603803. 2
2268952603804. 3
2268952603805. 4

Question Number : 527 Question Id : 226895671621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603802. 1
2268952603803. 2
2268952603804. 3
2268952603805. 4

Question Number : 528 Question Id : 226895671622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

The Buddha regarded the 'social world" as the creation of:

1. Humans

2. Planets

3. Lord Brahma
4. Lord Vishnu

Options :

2268952603806. 1
2268952603807. 2
2268952603808. 3
2268952603809. 4

Question Number : 528 Question Id : 226895671622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603806. 1
2268952603807. 2
2268952603808. 3
2268952603809. 4

Question Number : 529 Question Id : 226895671623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Who persuaded Buddha to allow women into the sangha?

1. Ajatasattu

2. Makkhali Gosala

3. Mahapajapati Gotami
4. Ananda

Options :

2268952603810. 1
2268952603811. 2
2268952603812. 3
2268952603813. 4

Question Number : 529 Question Id : 226895671623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603810. 1
2268952603811. 2
2268952603812. 3
2268952603813. 4

Question Number : 530 Question Id : 226895671624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



If you are reading the traveller's accounts, which of the following would be of Al-Biruni:

1. Explanation of the caste system by looking for parallels in ancient Persia.

2. Description of Delhi and Daulatabad (in Maharashtra) as vast cities.

3. Finding the lack of private property in India.

4. Description of the coconut and the paan, two kinds of plant produced in Medieval India.

Options :

2268952603814. 1
2268952603815. 2
2268952603816. 3
2268952603817. 4

Question Number : 530 Question Id : 226895671624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603814 1
2268952603815.2
2268952603816. 3
2268952603817. 4

Question Number : 531 Question Id : 226895671625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is not true about the Lingayats?

1. On death, the devotee will be united with Vishnu.

2. They ceremonially bury their dead.

3. They worship Shiva in his manifestation as a 'linga’.

4. Lingayats wear a small linga in a silver case on a loop strung over the left shoulder,

Options :

2268952603818. 1
2268952603819. 2
2268952603820. 3
2268952603821. 4

Question Number : 531 Question Id : 226895671625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603818. 1
2268952603819. 2
2268952603820. 3
2268952603821. 4

Question Number : 532 Question Id : 226895671626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l:

List-1 List-11
Meaning/ Characteristics Sufi-Terms
(A) Sufi lineages () Ziyarat
(B) Established rules for spiritual conduct and interaction between

) (Il) Langar
inmates/laypersons and the master

(C) The practice of pilgrimage to the grave of the Shaikh (1) silsila
(D) Open kitchen which runs on futufr (unasked-for charity) (V) Murshid

Choose the correct answer from the options given below:

1.(A) - (), (B) - (I, (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (), (C} - (), (D) - (IV)
3. (A) - (), (B) - (I, (C) - (V). (D) - (1)
4. (A) - (), (B) - (V). (Q) - (), () - (1)

Options :

2268952603822. 1
2268952603823. 2
2268952603824. 3
2268952603825. 4

Question Number : 532 Question Id : 226895671626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 DI GAT-11 & 1Y GHIT DIToTT -

-1 Geifl
3/ qo1-Tg
(A) YT d=ITER (y forard
(B) WIH®IE H Y8 dIcl/31TH @il 3R 2 (master) & 914 SMHATES TG00 ;

IR T ¥ for eaftrg e Uieeis

(C) ]G BT TS B JRGET DI 7Yl iy Forafaan
(D) Gl WIS Sl Fge (1 ATl &) W deiell & (v) =i
I feu e foweal O W SR T

1. (A)-( (B)-(1), (D)-(), (D)-(1V)
2. (A)-0). (B)-(1n), (Q)-(1), (D)-(1V)
3. (A)-(. (B)-(11), (C)-(1v), (D)-(ID)
4. (A)-(), (B)-(v), (O-(). (D)-(1D)

Options :

2268952603822. 1
2268952603823.2
2268952603824. 3
2268952603825. 4

Question Number : 533 Question Id : 226895671627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Why were agricultural tracts incorporated within the fortified area of the Vijayanagara Empire?

1. To protect the agricultural belt itself.

2. To beautify the capital with greenery.

3. To provide fresh fruits and vegetables to the royal family.
4. To use agricultural fields as line of defense.

Options :

2268952603826. 1
2268952603827 2
2268952603828. 3
2268952603829. 4

Question Number : 533 Question Id : 226895671627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603826. 1
2268952603827. 2
2268952603828. 3
2268952603829. 4



Question Number : 534 Question Id : 226895671628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In Vijayanagara, water from which one of the following structures was conducted through the channel to the "royal
centre”?

1. Lotus tank

2. Hiriya canal

3. Vijaya canal

4. Kamalapuram tank

Options :

2268952603830. 1
2268952603831. 2
2268952603832. 3
2268952603833. 4

Question Number : 534 Question Id : 226895671628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603830. 1
2268952603831. 2
2268952603832. 3
2268952603833. 4

Question Number : 535 Question Id : 226895671629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is not true about the Ain-i Akbari?

1. It was completed in 1598.

2. This is a view of the regions from the centre.

3. It provides gquantitative information of various provinces.

4. Undertaken at the order of Emperor Akbar and completed at the time of Shah Jahan.

Options :

2268952603834. 1
2268952603835.2
2268952603836. 3
2268952603837. 4

Question Number : 535 Question Id : 226895671629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603834. 1
2268952603835. 2
2268952603836. 3
2268952603837. 4

Question Number : 536 Question Id : 226895671630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-11:

List-1 List-11
Revenue-Collection Terms
(A) The crops are reaped and stacked and divided by agreement in the presence of the () bhaoli

aoli
parties
(B) After the crops are cut and estimated in three lots; the good, the middling, and the () lang-batai
inferior
(C) After cutting the grain, heaps are divided among themselves (1) kankut
(D)} When the fields are divided after they are sown (IV) khet-batai

Choose the correct answer from the options given below:

T.(A) - (), (B) - (). (Q) - (1), (D) - (V)
2.(A) - (0, (B) - (), (C) - (), (D) - (V)
3. (A - (0, (B) - (I, (C) - (V). (D) - (1)
4. (A) - (1, (B) - (IV), (Q) - (0, (D) - (1)

Options :

2268952603838. 1
2268952603839. 2
2268952603840. 3
2268952603841. 4

Question Number : 536 Question Id : 226895671630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-0), (B)-(1), (C)-(11), (D)-(IV)
2. (A)-. (B)-(n), (©)-(, (D)-(1IV)
3. (A)-(1), (B)-(n). (C)-(1V). (D)-(111)
4. (A)-(I), (B)-(V), (©-(1). (D)-(1D

Options :

2268952603838. 1
2268952603839. 2
2268952603840. 3
2268952603841. 4

Question Number : 537 Question Id : 226895671631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In the seventeenth-century agrarian society, women of Rajasthan could send petitions to seeking justice.

1. Village panchayat
2. Amin

3. Diwan

4. Subedar

Options :

2268952603842. 1
2268952603843.2
2268952603844. 3
2268952603845. 4

Question Number : 537 Question Id : 226895671631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952603842 1
2268952603843. 2

2268952603844. 3
2268952603845. 4



Question Number : 538 Question Id : 226895671632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following events in a chronological order:
{A) Santhals begin to come and settle in the Rajmahal hills
(B) Permanent Settlement in Bengal
(C) Cotton boom begins
(D) Santhal rebellion

Choose the correct answer from the options given below:

()
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e
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3.
4.

T8

Options :

2268952603846. 1
2268952603847.2
2268952603848. 3
2268952603849. 4

Question Number : 538 Question Id : 226895671632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603846. 1
2268952603847. 2
2268952603848. 3
2268952603849. 4

Question Number : 539 Question Id : 226895671633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following events of 1857 chronologically:

{A) Mutiny turned into a general revolt of the people

(B) Mutiny started in Meerut

{C) Delhi garrisons revolt

(D) British forces under Havelock and Qutram entered the Residency in Lucknow
Choose the correct answer from the options given below:

1. (A), (B), (Q), (D)
2. (B), (C):(A), (D)
3. (B), (A), (D), (Q)
4.(C). (B), (D), (A)

Options :

2268952603850. 1
2268952603851. 2
2268952603852 3
2268952603853. 4

Question Number : 539 Question Id : 226895671633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603850. 1
2268952603851. 2
2268952603852. 3
2268952603853. 4

Question Number : 540 Question Id : 226895671634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Who was approached for leadership by the sepoys of Meerut who broke out in mutiny against the British in 18577

1. Rani Lakshmi Bai

2. Nana Sahib

3. Mughal emperor Bahadur Shah
4. Kunwar Singh

Options :

2268952603854. 1
2268952603855. 2
2268952603856. 3
2268952603857. 4

Question Number : 540 Question Id : 226895671634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
1857 H 3i¥ell o @I fdglg S dld #ia & Ryuiigal 3 Aqd o foe ey 9ud fovar ure

1.3 A an

2.9 9iEd

3. TTCT GHIE 981GR 26
4. p f8e

Options :

2268952603854. 1
2268952603855. 2
2268952603856. 3
2268952603857. 4

Question Number : 541 Question Id : 226895671635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which movement was withdrawn by Gandhiji after a group of peasants attacked and torched a police station in the
hamlet of Chauri Chaura (United Provinces) ?

1. Non-Cooperation Movement
2. Civil Disobedience Movement
3. Quit India Movement

4. Ahmedabad Labour Strike

Options :

2268952603858. 1
2268952603859. 2
2268952603860. 3
2268952603861. 4

Question Number : 541 Question Id : 226895671635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



AR IRT (@Y Uid) B 9% H [SHHE] & P 998 §RI TP Yferd U U 40 B3 3R I8 AR 1M & a7 el
®F-9T G argy o fomr ur?

1. HYSYRT SAiGieA

2. 9ia=1g 3G i

3. Y SISt HTaia

4. SgHCEIG Huigd gadid

Options :

2268952603858. 1
2268952603859. 2
2268952603860. 3
2268952603861. 4

Question Number : 542 Question Id : 226895671636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following events in a chronological order:
{A) Ryots in Deccan villages rebel
(B) Slow process of agrarian expansion in the Bombay Deccan
(C) First revenue settlement in the Bombay Deccan
(D) Regulating Act passed by the British Parliament

Choose the correct answer from the options given below:

Options :

2268952603862. 1
2268952603863 2
2268952603864. 3
2268952603865 4

Question Number : 542 Question Id : 226895671636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Fafdiad ge-rell @ ST & HTHR HaRYd Hiferd:
(A) GGH & TI1d] H 394l @1 fdgig

(B) 3 Gad H iy %R @ < ufgsar

(C) F793 Go § U Joid Saiae

(D) fsife=r Hde ER1 UG TgeifeT uee

d e e fae el & 9 |t IR -

Options :

2268952603862. 1
2268952603863. 2
2268952603864. 3
2268952603865. 4

Question Number : 543 Question Id : 226895671637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Arrange the following events in a chronological order:
{A) Babur defeats ibrahim Lodi, the Delhi Sultan, at Panipat, and becomes the first Mughal emperor
(B) Humayun is defeated by Sher Shah, in exile at the Safavid court
(C) Nadir Shah invades India and sacks Delhi
(D) The ‘diwani’ of Bengal was transferred to the English East India Company

Choose the correct answer from the options given below:

Options :

2268952603866. 1
2268952603867. 2
2268952603868. 3
2268952603869. 4

Question Number : 543 Question Id : 226895671637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



FufaRad el @ Biesd & IR Haid Bifert:

() faeeht & e seifen aid! & Origd ® 531 o SR Toal I S1G9g &1
(8) TG ¥ BRS gAY &RT PTdl GXaR  Faiirel/mard! a7es el

(C) IR T8 BT HRA W SHHHU 9 IHb gR] faeet] I g

(D) 3 3% ST5T U & 7d @ CIaHT & AUBR B g ST

ta fGu TTe el H 9 |l IR -

1.(A). (B), (). (D)
2. (A),. (C). (D), (B)
3. (B), (A), (D). (©)
4. (). (B). (D), (A)

Options :

2268952603866. 1
2268952603867. 2
2268952603868. 3
2268952603869. 4

Question Number : 544 Question Id : 226895671638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In the eighteenth-century, which of the following was not the reason for the defaults on payments by the zamindars?

1. The initial demands were very high.

2. The zamindars’ were allowed to organise troops and “cutcheries”, for increasing their authority in the rural areas.
3. High demand was imposed at a time when the prices of agricultural produce were depressed.

4. The revenue was invariable, regardless of the harvest, and had to be paid punctually.

Options :

2268952603870. 1
2268952603871.2
2268952603872. 3
2268952603873. 4

Question Number : 544 Question Id : 226895671638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

JHoRedl Adied] H, FufciRad o 4 oiH-u1 wHigR g1 Ued YTaH & 3 ol UH o HRU el 41?7
1. URfa T aga e of |
2. TrefieRl @t awfio &7 & e fieR e & o S0 Toisal 3 sasfat o Uifed o ot srafa € s &

3. if¥@ T 08 9Hg & &1 118 of 99 SN 3U ®] Difd &4 8l el 4
4. XTSTEE UREd- o, BHd 381 Bl U1 @eIE Aeed B HIdH §H9 IR a1 o T ol

Options :

2268952603870. 1
2268952603871.2
2268952603872. 3
2268952603873. 4



Question Number : 545 Question Id : 226895671639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

What is the meaning of the term Benami?

1. Transactions made in the name of a fictitious or relatively insignificant person, whereas the real beneficiary remains
unnamed.

2. In the name of a person called 'Benam’.

3. Transaction is done by and in the name of the real owner.

4. The special transactions where the real beneficiary remains traceable and accountable.

Options :

2268952603874. 1
2268952603875. 2
2268952603876. 3
2268952603877. 4

Question Number : 545 Question Id : 226895671639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

ST e &1 a7 31 87

1. U9 - T1 Grel & fore foman e @ ot fooelt Wl o Stiendd Tewe aafad & A1 & e ord 8 9iR S99 et
BIaGl U ard eafad &1 =1 el faar ol

2. S TS fed & AH TR

3. T-¢ arafde Hifed ary 3R 39 99 W fear o gl

4. 9 T9-37 wief arafae arrdf uar o 9rg SR SiaTesE Wdl o

Options :

2268952603874. 1
2268952603875.2
2268952603876. 3
2268952603877. 4

Question Number : 546 Question Id : 226895671640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11:

List-1 List-11

Leaders Regions

(&) Shah Mal (I) Pargana Barout in Uttar Pradesh
(B) Gonoo (1) Singhbhum in Chotanagpur

(C) Birjis Qadr (i) Awadh

(D} Kunwar Singh (IV) Arrah in Bihar

Choose the correct answer from the options given below:

T.(A) - (@, (8) - (1, (G - (), (D) - (V)
2.(A) - (0, (B) - (1), (C) - (1), (D) - (V)
3. (A) - (). (B) - (). (Q) - (V). (D) - (1)
4. (A) - (1), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952603878. 1
2268952603879. 2
2268952603880. 3
2268952603881. 4

Question Number : 546 Question Id : 226895671640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

-1 Bl -1 P Y GAH biford:

-1 -1

T &

—_— (1) SR UG &I Foid I
(8) L (1) BIEHFTR # RigyH
SRl (1) SqY

(D) IR R (V) feeR & S

Id feu e fodmed! o O HEt 3R g -

1. (A)-(1). (B)-(1, (C)-(10), (D)-(IV)
2. (A)-(1). (B)-01), (Q)-(I), (D)-(1V)
3. (A)-01), (B)-(1), (©)-(V), (D)-(111)
4. (A)-0n). (B)-(1v), (C)-(1), (D)-(11)

Options :

2268952603878. 1
2268952603879. 2
2268952603880. 3
2268952603881. 4

Question Number : 547 Question Id : 226895671641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The total time span of the Harappan Civilisation ranges :

1. From 2000 BCE to 1000 BCE
2. From 6000 BCE to 1300 BCE
3. From 1500 BCE to 900 BCE

4. From Post Vedic Civilisation

Options :

2268952603882. 1
2268952603883. 2
2268952603884. 3
2268952603885. 4

Question Number : 547 Question Id : 226895671641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

W Tl 1 P @y &

1. 2000 391 9d ¥ 1000 391 44 &
2. 6000 391 44 ¥ 1300 391 U4 dd
3.1500 391 4 9 900 39194 a@®

4. 3R ACH ggar 9

Options :

2268952603882. 1
2268952603883. 2
2268952603884. 3
2268952603885. 4

Question Number : 548 Question Id : 226895671642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Who deciphered 'Brahmi' and 'Kharosthi’ scripts in 18387

1. James Prinsep

2. Alexander Cunningham
3.D.C. Sircar

4. REEM. Wheeler

Options :

2268952603886. 1
2268952603887. 2
2268952603888. 3
2268952603889. 4

Question Number : 548 Question Id : 226895671642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



1838 H SRl IR WIEr il & e ugah aR gel?

1. 99 =g
2. TGSt BIHgH
3. 81 4l WER

4. 3R 5. TH. B

Options :

2268952603886. 1
2268952603887. 2
2268952603888. 3
2268952603889. 4

Question Number : 549 Question Id : 226895671643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Identify the correct statements about the ‘Inscriptions™

{A) Routine agricultural practices and events of daily life are the subject-matter of inscriptions.
(B) Record the achievements, activities or ideas of those who commissioned them.

(C) Writings are engraved on hard surfaces such as stone, metal or pottery.

(D) The earliest inscriptions were in Prakrit.

Choose the correct answer from the options given below:

(B) and (D) only
. (&), (B) and (C) enly

(B), (€) and (D)
B), (C) and (D) only

Options :

2268952603890. 1
2268952603891. 2
2268952603892. 3
2268952603893. 4

Question Number : 549 Question Id : 226895671643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



it & ey J W8 Syl B YT B

(&) Frofia oY ugfaal ik 3R ofiad ®t gent sifieRal & fawg &

(B) 3 TNl 1 SUaiier], Tfafafiat a1 faart &1 Soord gial & off 3= a-dld &
(C) TG TR, U1 41 g1 & 7 okl BeR Wdel W e gl

(D) TSY R HfieE urad 1 41

i faw e fawedl & © wE IR TH--

£ %ﬁﬁ{ (&), (B) 3R (D)
2.%ad (A), (B) ¥R (O)
3. (A), (B), (C) 3R (D)

4.%4d (B), (C) 3R (D)

Options :

2268952603890. 1
2268952603891. 2
2268952603892. 3
2268952603893. 4

Question Number : 550 Question Id : 226895671644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In which language were the Ashokan inscriptions written in Afghanistan?

1. Sanskrit

2. Prakrit

3. Aramaic and Greek
4. Latin and Greek

Options :

2268952603894. 1
2268952603895. 2
2268952603896. 3
2268952603897. 4

Question Number : 550 Question Id : 226895671644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

ST # 3RS & AfyeRE iy v & fad e 22
1. 5d

2. Hlpd
3. IRHE® AR AT (GE)
4. qfeq SR T (i)

Options :

2268952603894. 1
2268952603895. 2
2268952603896. 3
2268952603897. 4



Question Number : 551 Question Id : 226895671645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11:

List-1 List-11
Meanings Terms

(A) Term used by the Sanskrit texts to designate families (1) Kula

(B) Tracing descent from father to son (I1) Polygyny
{C) The practice of a man having several wives (1) Patriliny
(D) The gift of a daughter in marriage (IV) Kanyadana

Choose the correct answer from the options given below:

T.(A) - (0, (B) - (). (C) - (), (D) - (V)
2. (A) - (1), (B) - (), (C) - (), (D) - (V)
3. (A) - (1), (B) - (), (C) - (V). (D) - (1)
4. (A) - (1, (B) - (V). (Q) - (0, (D) - (IN)

Options :

2268952603898. 1
2268952603899. 2
2268952603900. 3
2268952603901. 4

Question Number : 551 Question Id : 226895671645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TT-1 D1 GH-11 & G GHIT BIfoTL:

-1 -1

aref Tgad Weg

(A) THd Ul H URaR & &0 Ia Uea 0 A

(8) a1 ¥ OF 9@ 991 @1 Ua T (1) SET@T (Polygyny)

(C) U@ GoY Bl 3% Uledl ai- &I 0l (1) eI (Patriliny)
(D) faarg € &1 &1 Ye (V). SIGH

I fau 7 famed! & O wEt S -

1. (A)-(1, (B)-(1), (C)-(), (D)-(IV)
2. (A)-(). (B)-(1), (C)-(1), (D)-(1V)
3. (A)-(1). (B)-(), (C)-(1V), (D)-{1ID)
4. (A)-(1), (B)-(IvV), (C)-(0, (D)-(I

Options :

2268952603898. 1
2268952603899. 2
2268952603900. 3
2268952603901. 4

Question Number : 552 Question Id : 226895671646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



In Sanskrit texts and inscriptions, the term 'Vanik' refers to:

1. Peasants
2. Merchants
3. Guilds

4. Kings

Options :

2268952603902. 1
2268952603903. 2
2268952603904. 3
2268952603905. 4

Question Number : 552 Question Id : 226895671646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T FUl 2R 3ifyeial 7 aivie Wk by ¥ wEfEd &

1. fearr 9
2. i

3. 9ot (e ©
4.3 Y

Options :

2268952603902. 1
2268952603903. 2
2268952603904 3
2268952603905. 4

Question Number : 553 Question Id : 226895671647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11:

List-1 List-1l

Origin-Country Thinker

(&) Iran () Plato and Aristotle

(B) China (I Mahavira and Gautama Buddha
(C) Greece (I} Zarathustra

(D) India (IV) Kong Zi

Choose the correct answer from the options given below:

= (1), (B) - (1), () - (1, (D) - (IV)
= (1), (B) - (D), () - (1), (D) - (1V)
= (1), (B) - (1), (C) - (1V), (D) - (1)
= (1), (B) - (V). (€) - (0, (D) - (IN)
Options :

2268952603906. 1

2268952603907. 2



2268952603908. 3
2268952603909. 4

Question Number : 553 Question Id : 226895671647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

HT-1 B G-Il & T GART DIl

T Geial
qe-3% aR®
(A) ST (1) el 31T SR&].
(8) 91 (1) HeTER SR Mad g5
() T ) (1) SRIYE
(D) HRd (1v) Gt
T2 fou e fomeal F O wet SR 9
1. (A)-(0. (B)-(11). (C)-(1), (D)-(1IV)
2. (A)-(1), (B)-(11), (©)-{l), (D)-(IV)
3. (A)-(, (B)-(1), (O)-(1V), (D)-(11)
4. (A)-(I), (B)-(1V), (O-(1). (D)-(11)
Options :

2268952603906. 1
2268952603907. 2
2268952603908. 3
2268952603909. 4

Question Number : 554 Question Id : 226895671648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

According to which Buddhist text, Asoka distributed portions of the Buddha's relics to every important town and
ordered the construction of stupas over them?

1. Ashokavadana

2. Sutta Pitaka

3. Vinaya Pitaka

4. Mahaparinibbana Sutta

Options :

2268952603910. 1
2268952603911. 2
2268952603912. 3
2268952603913. 4

Question Number : 554 Question Id : 226895671648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



¥ g 94 & IFER, 3D 4 g ® HGRYl & (666 DI 52 He@qu W H sic B 395 HUL Y’ &1 BI e
fear:

1. HYHETH
2.4 fues

3. fog fiew

4. HETUR s g9

Options :

2268952603910. 1
2268952603911. 2
2268952603912. 3
2268952603913. 4

Question Number : 555 Question Id : 226895671649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11:

List-1 List-11

Incident/ Characteristics Traveller

(A) He arrived in Ghazni as a hostage, but gradually developed a liking for this city (I Al-Biruni

(B) He reached Sind in 1333 and was later appointed as the gazi of Delhi (Il) Frangois Bernier
(C) Physician to Prince Dara Shukoh (1) Ibn Battuta

(D) Wrote a detailed account of trade and society in South India {IV) Duarte Barbosa

Choose the correct answer from the options given below:

1. (A) - (0, (B) - (I, (Q) - (1), (D) - (V)
2.(A) - (1, (B) - (1), (C) - (), (D) - (IV)
3. (A) - (0, (B) - (I, (C) - (V). (D) - (1)
4. (A) - (), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952603914. 1
2268952603915. 2
2268952603916. 3
2268952603917. 4

Question Number : 555 Question Id : 226895671649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 DI GAT-11 & Q1Y FHICTT DI -

-1 -1

e/ faeyaTe BIE]

(A) T8 UD S8 & ¥ o1 Gedl, Afde 8R-9R 39 U8 Ue UhE A @ (1) 3r9-fEt

(B) 98 1333 H [y ugar 3R a1g H 3 el &1 Frofl e fasar mn (i Wi afHaR

(€) TIPIR &R Riole & faftred® & w0 | Fgaa (111) $§ &1 (Ibn Battuta)
(D) GO 4Rd H SATUR HR FHIG o1 U (d%gd faawu fBran (V) B3 IRENT

I f&u e faweal & 9 @ I IH-

1. (A)-(0. (B)-(1), (C)-(11), (D)-(IV)
2. (A)-(). (B)-(1n, (©)-(n, (D)-(1V)
3. (A)-(: (B)-(). (O)-(V). (D)-(111)
4. (A)-(1), (B)-(V), (©-(1). (O)-(1D

Options :

2268952603914. 1
2268952603915.2
2268952603916. 3
2268952603917. 4

Question Number : 556 Question Id : 226895671650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is not true about Ibn Battuta?

1. Wrote Rihla, book of travels, in Arabic.

2. He was born in Tangier, into an educated family known for its expertise in Islamic religious law or shari‘a.
3. He describes that certain varieties of fine muslin were too expensive to be worn by ordinary people.

4. He was ordered in 1342 to proceed to Persia as the envoy of Muhammad bin Tughlag.

Options :

2268952603918. 1
2268952603919. 2
2268952603920. 3
2268952603921. 4

Question Number : 556 Question Id : 226895671650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FafaRad 3 § $H-91 $Y= 2@ 90l (Ibn Battuta) & 9 H 98l T8 o7

1. Reersit st ey & foran 77 S9®T 9@ g9id g
2. 3D & IR & U RIMEd URaR 1 gofl o, 5l s Uiftes oA srydl IRgT o 3o fa=insidl & foe uitig

|
3. 39 quiH o 1o el Aave & &5 faed sa-1 ifds Herit 4t for 3 wreor a8 ugd 9dd Y1
4. 39 1342 T ggwg fo7 Ta® & gd & ©u ¥ BRY (iR < &1 srew fgn i

Options :

2268952603918. 1
2268952603919. 2
2268952603920. 3
2268952603921. 4



Question Number : 557 Question Id : 226895671651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The terms "great and little traditions" were coined by:

1. John Marshall
2. R.EM. Wheeler
3. Robert Redfield
4. M. N. Srinivas

Options :

2268952603922. 1
2268952603923.2
2268952603924. 3
2268952603925. 4

Question Number : 557 Question Id : 226895671651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

"HgH HR oY R Weg fhld gRI gfad faar 7/ar ot

1. AR B
2. ¥R 3. TH. BN
3. 3ac IS
4. 7. T, ifHarg

Options :

2268952603922. 1
2268952603923.2
2268952603924. 3
2268952603925. 4

Question Number : 558 Question Id : 226895671652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Saguna bhakti traditions do net include:

1. Traditions that focused on the worship of specific deities such as Shiva, Vishnu and his avatars (incarnations)
2. Forms of the goddess or Devj, all often conceptualized in anthropomorphic forms

3. Worship of an abstract form of god

4. Worship of a form of god with attributes

Options :

2268952603926. 1
2268952603927. 2
2268952603928. 3
2268952603929. 4

Question Number : 558 Question Id : 226895671652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



T e Wt § it T E:

1. farg, w0 3iR 305 SiaaRT B SRTEFT/IE W SHigd TuRTE
2. ¢4l g1 gfagl & Ul &1 SARTEH/YET, Gt B SRR Hd (QIUHIhe) ¥l H SGeRuN g &

3. YTAF BT S (FRIGR) 9 § RIS
47107} o 1Y YITAH &1 O &9 T HRTEH]/GE

Options :

2268952603926. 1
2268952603927. 2
2268952603928. 3
2268952603929. 4

Question Number : 559 Question Id : 226895671653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The rulers of Vijayanagara empire called themselves

1. Rayas

2. Nayakas

3. Kudirais

4. Samrajyapatis

Options :

2268952603930. 1
2268952603931. 2
2268952603932. 3
2268952603933. 4

Question Number : 559 Question Id : 226895671653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

faoTR O & EE Wl @1 CEGE

1.3
2. 9@

3. ey
4. grgregald

Options :

2268952603930. 1
2268952603931.2
2268952603932. 3
2268952603933. 4

Question Number : 560 Question Id : 226895671654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Who was appointed as the first Surveyor General of India in 18157

1. George Michell
2. lohn Marshall

3. REM. Wheeler
4. Colin Mackenzie

Options :

2268952603934. 1
2268952603935. 2
2268952603936. 3
2268952603937. 4

Question Number : 560 Question Id : 226895671654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1815 H YRd & Ugc HA&@ (Ua93) 9-Ra & &0 H [l Fga fear m ur

1. Sio THRIe

2. S A

3. 3R, 3. TH. ®IR
4, Pife Hdooft

Options :

2268952603934. 1
2268952603935.2
2268952603936. 3
2268952603937. 4

Sub-Section Number : 2
Sub-Section Id : 22689527548
Question Shuffling Allowed : No

Question Id : 226895671655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (561 to 565)

Read the passage and answer the questions:
“The British element is gone, but they have left the mischief behind”

It is no use saying that we ask for separate electorates, because it is good for us. We have heard it long enough. We have heard
it for years, and as a result of this agitation we are now a separate nation ... Can you show me one free country where there are
separate electorates? If so, | shall be prepared to accept it. But in this unfortunate country if this separate electorate is going to
be persisted in, even after the division of the country, woe betide the country; it is not worth living in. Therefore, | say, it is not
for my good alone, it is for your own good that | say it, forget the past. One day, we may be united ... The British element is
gone, but they have left the mischief behind. We do not want to perpetuate that mischief. (Hear, hear). When the British
introduced this element they had not expected that they will have to go so soon. They wanted it for their easy administration.
That is all right. But they have left the legacy behind. Are we to get out of it or not?.

Sub questions
Question Number : 561 Question Id : 226895671656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Who is the speaker of this passage?

1. Mahatma Gandhi

2. Sardar Vallabhbhai Patel
3. B. Pocker Bahadur

4. RV. Dhulekar

Options :

2268952603938. 1
2268952603939. 2
2268952603940. 3
2268952603941. 4

Question Number : 562 Question Id : 226895671657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

According to the speaker, what was the consequence of the policy of a separate electorates?

1. Free and fair election

2. Increase in nationalism in India
3. Freedom for India

4. The partition of India

Options :

2268952603942. 1
2268952603943. 2
2268952603944. 3
2268952603945. 4

Question Number : 563 Question Id : 226895671658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

What is opposed by the speaker in the above passage?

1. The division of the country

2. The demand for separate electorate
3. The lapse of the British element

4. The demand for easy administration

Options :

2268952603946. 1
2268952603947.2
2268952603948. 3
2268952603949. 4

Question Number : 564 Question Id : 226895671659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



The mischief of separate electorates was left behind by:

1. The Muslim League

2. The British Government

3. People leaving due to partition
4. The Nawabs and the Rajas

Options :

2268952603950. 1
2268952603951. 2
2268952603952. 3
2268952603953. 4

Question Number : 565 Question Id : 226895671660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Why, according to the speaker, the British introduced the separate electorates?

1. For their easy administration

2. To strengthen the Indian polity

3. To protect the rights of the Indians

4. To provide a balanced political framework

Options :

2268952603954. 1
2268952603955.2
2268952603956. 3
2268952603957. 4

Question Id : 226895671655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (561 to 565)
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Sub questions

Question Number : 561 Question Id : 226895671656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



29 Ufade & dey FafafEa g a &2

1. AT TTedT

2. TGR deTHHTs Ued
3. &l Uia §RIgR

4. 3R, 1. yoiar

Options :

2268952603938. 1
2268952603939. 2
2268952603940. 3
2268952603941. 4

Question Number : 562 Question Id : 226895671657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

UR=sG & gkl o SHTUR Gy Hdifaes! & Hifd &1 71 uRoms uiz

1. %904 SR g g
2. YA & Updig H gl
3. YRl o foTg TGl
4. HRd 1 faHTeH

Options :

2268952603942. 1
2268952603943. 2
2268952603944. 3
2268952603945. 4

Question Number : 563 Question Id : 226895671658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

JWRIgd U= § gadl fed 91d @1 faRlY @dd 87

1. 5 @1 [FUeH

2. gya@ Haifad &1 A
3. fafesr &t 4o

4. 3T U= ® JF

Options :

2268952603946. 1
2268952603947.2
2268952603948. 3
2268952603949. 4

Question Number : 564 Question Id : 226895671659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



e Faifod Gt TRRG & i @ g gRI s 318 faar n

1. eTH AT ERT

2. fafes TR gR1

3. §edR & SRS 3§ TN gRIT
4. d7E! g I gRI

Options :

2268952603950. 1
2268952603951. 2
2268952603952. 3
2268952603953. 4

Question Number : 565 Question Id : 226895671660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
uRwde & gadl & SFER, SUE A gyw Falfue w9 9= faanr

1. U I & Giaen & o

2. YA oHitd &1 Hoad 2 & g

3. YT & BRI @1 36T & Y

4. Uah Aford TSI Gidl UaH S o o

Options :

2268952603954. 1
2268952603955.2
2268952603956. 3
2268952603957. 4

Sub-Section Number : 3
Sub-Section Id : 22689527549
Question Shuffling Allowed : No

Question Id : 226895671661 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (566 to 570)

Read the passage and answer the questions:
Charkha

What | object to, is the craze for machinery as such. The craze is for what they call labour-saving machinery. Men go on “saving
labour”, till thousands are without work and thrown on the open streets to die of starvation. | want to save time and labour, not
for a fraction of mankind, but for all; | want the concentration of wealth, not in the hands of few, but in the hands of all.

YOUNG INDIA, I3 NOVEMBER 1924

Khaddar does not seek to destroy all machinery but it does regulate its use and check its weedy growth. It uses machinery for
the service of the poorest in their own cottages. The wheel is itself an exquisite piece of machinery.

YOUNG INDIA, 17 MARCH 1927

Sub questions

Question Number : 566 Question Id : 226895671662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Who is the author of the passage?

1. Mahatma Gandhi
2. lawaharlal Nehru
3. Subhash Chander Bose
4. Vallabhbhai Patel

Options :

2268952603958. 1
2268952603959. 2
2268952603960. 3
2268952603961. 4

Question Number : 567 Question Id : 226895671663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the writer opposing in the passage?

1. Quest for modernisation

2. Setting up of factories

3. Changing trends in modern times
4. Mindless craze for machinery

Options :

2268952603962. 1
2268952603963. 2
2268952603964. 3
2268952603965. 4

Question Number : 568 Question Id : 226895671664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What does the writer mean by 'saving labour'?

1. Saving the lives of humans

2. Saving humans from hard labour

3. Employing machines instead of human beings
4. Giving honor to human labour

Options :

2268952603966. 1
2268952603967. 2
2268952603968. 3
2268952603969. 4

Question Number : 569 Question Id : 226895671665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



What fear is expressed in this paragraph?

1. Men will start loving machinery

2. Machines will replace human labor and thousands will go unemployed
3. Machines will rule the world

4. Machine labour will get respect

Options :

2268952603970. 1
2268952603971. 2
2268952603972. 3
2268952603973. 4

Question Number : 570 Question Id : 226895671666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What are the views of the writer about the role of machines and the concentration of wealth?

1. Industrialisation should not result in the concentration of wealth in the hands of a few elites
2. Humans should get employment and not machines

3. Machines should not be employed to replace humans

4. Time and labor should be saved

Options :

2268952603974. 1
2268952603975.2
2268952603976. 3
2268952603977. 4

Question Id : 226895671661 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (566 to 570)
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Sub questions

Question Number : 566 Question Id : 226895671662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. TETHT T1TelT

2. SATEXAd 18
3. Y 9% 19
4. eaHYTg Ied

Options :

2268952603958. 1
2268952603959. 2
2268952603960. 3
2268952603961. 4

Question Number : 567 Question Id : 226895671663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952603962. 1
2268952603963 2
2268952603964. 3
2268952603965. 4

Question Number : 568 Question Id : 226895671664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. QAT @ o g9
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Options :

2268952603966. 1
2268952603967. 2
2268952603968. 3
2268952603969. 4

Question Number : 569 Question Id : 226895671665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :



2268952603970. 1
2268952603971. 2
2268952603972. 3
2268952603973. 4

Question Number : 570 Question Id : 226895671666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952603974. 1
2268952603975.2
2268952603976. 3
2268952603977. 4



